T428/MAS5 OCTOBER 2008

ADVANCED ACCOUNTING

(For those who joined in July 2003 and after)
Time : Three hours Maximum : 100 marks
SECTION A — (4 x 10 = 40 marks)
Answer any FOUR of the following.
Answer to each theory questions not to exceed 2 pages.
1. wailseer serd e P& WSgeuD WHOID
@mpUTHEmeT al6ms@as.
Explain the significance and short comings of
Human Resource Accounting.
2. @pdu dlneiers glLib 1956 &1 awrsgissdar 78,79
woHmb 80 e (Wé&Hwsgeusms eflarsEs.
Explain the provisions of Section 78, 79 and 80 of
the Indian Companies Act, 1956.
3. @ smlLremen fnwsdle e imefl @meur aflov@d
Gurg pHCUWT semsSHb (pennsamar allens@s.

Explain the various methods of treatment of
goodwill at the time of retirement of a partner in a
partnership firm.



4. @n aosgfls flpeuead gaa@eamLw apeliurl i
. 19,90,000 5@ o & SiMEE TS
Qaundle ep. 13,800 wdllifewrer uanpws ppeiLm_enL ujbd
vwerL(ssLuOEaTngl. 2 @repwmen ppLILIT(H 6ETenD €.
9,90,9000 9iL&s efleneuiledr s iu®&leamg). epaiGummer
O gwmeluller aldlsb 7:3 apaliClummearser ellene LW
dlaeamu efer 121% b &el eigsded 15% b
@apdamg. umpw Ceaimauier apals Gumrmar ep. 25,200
&@ ellpaslu(Eleng).

@riers samsdlue pepuiledy Cuwa  sramb
BLauigsamsamerd GOUGCULHL udesala smsa.

An electric company rebuilds its mains at the cost
of Rs. 19,90,000. This includes value of Rs. 13,800
material of old mains used for few years. The original
mains were constructed at a cost of Rs. 9,90,000. The
ratio of material and labour there in was 7 : 3. The
increase in material price is 121 % and wage rates 15%.

Materials worth Rs. 25,200 from old works was sold.

Show journal entries under Double A/c System for
the above.

5. 2007 wgewur 31 geepw Xell wHmb Y edliier
poudloass @@muy  Hows  @iluy  swrfléseb.
S|QUNEETE) @iy Flenavs GO GsEr &G
Qarhssliul_(Hdrerg). URGSMET eUTREGL Braterm Y
fneuangdlen sriy ep. 6,000; eoru plis s/@ Q@muy
em. 4,000.
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Qumgiysser Xalll. YL Qarggissear Xell. Yalll.

- 5- &- B-

LI Wenamrwidleveum

. . 20,000 —
APESETLD : Qergg)
10,000 @Quidyd Y
Ll @ aOl_- e
gasGaurermd 4 o, 4 LI G&ET. 30,000 16,000
5. 10 eligd
4,000 LIMIGSeT (3,000 LIBI@GSET
@eubleurenmd geuleumesmd
5. 10 efgid 40,000 ¢m. 10) 40,000 —
Qurgissmiy 15,000 6,000 sradmiiy 20,000 22,000
OTUBL L& sLanmeaflser 25,000 12,000
HEMES 20,000 8,000
s_afpCar 20,000 6,000 quriid @piuy 20,000 10,000

1,55,000 60,000 1,565,000 60,000

Prepare the consolidated Balance Sheet of X Ltd.
and Y I_,td. as on December 31, 2007. Their Balance
Sheet are given below. On the date of acquisition of

shares the general reserve of Y Ltd. amounted to
Rs. 6,000 and the P/L a/c balance to Rs. 4,000.

Liabilities X Ltd. Y Ltd. Assets X Ltd. Y Ltd.
Rs. Rs. Rs. Rs.
Share capital : Freehold property 20,000 —
10,000 shares of Machinery 30,000 16,000
Rs. 10 each 1,00,000 Shares in Y Ltd.
4,000 shares of (3,000 shares of
Rs. 10 each 40,000 Rs. 10 each) 40,000 —
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Liabilities X Ltd. Y Ltd. Assets X Ltd. Y Ltd.

Rs. Rs. Rs. Rs.
General Reserve 15,000 6,000 Stock 20,000 22,000
P/L alc 20,000 8,000 Debtors 25,000 12,000
Creditors 20,000 6,000 Bank Balance 20,000 10,000
1,55,000 60,000 1.55,000 60,000

6. Smeumariger erev  Afleriiev e  @ubdlrsans
sanaufl 1,1998 & Gsrerpsed Geugarnt. Qunbdlysser
L& aflena ep. 40,000. Quipdlrd euriu@d Gung ep. 8,000
WL BreE  BET(HS  FeUMETITS ., HEUaenT
paCeuramdn@d  ep. 8,000 eisb gebur 31-b Czd
Qegussiiu®dleamg. @QsnE Cweons, Osss Ceudmrgw
@ mue culllg 21 (h) QeTdlnE 12% Greu
auGNssLUBdeamg.  Gararipsedd  Gelgeum  gliged
ellpuemarurefler samsmas swrt Gels. Ceqiss Couemrig i
FEUHETS Qgrensser DD RTSGILD Qyrésons
@é@]gguugL@.

On 1st January 1998 M/s S printers purchased a
machinery on the instalment payment system. The cash
price of the machinery is Rs. 40,000, Rs. 8,000 is paid on
delivery and four annual instalments of Rs. 8,000 each
are paid on 31%t December. In addition, interest is to be
charged at 12% p.a. on yearly balances. Show the
seller’s a/c in the books of the buyer for the period of the
agreement assuring that all payments were duly made

by cash.
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7. Spsaramid eflurhseialmpg smeoliumerier @midlé

EESGS SWTHESD.

€.
GepamwH sLaibCsTige 2,24,000
waayflew sLatbCariser 70,000
SLaTLIGS TD 75,000

Qersgisaer elpndle dasz5  2,68,000

samolil§ ClFwe sar 2,000

unigsmyrsaflmBg p. 19, 000 ¢ Sienwlil) epeaid
QupuulLg. smelurarfler sbuerd Carsg alpmdd 2%
Cuogib werayfleny sLalbCamiser oons Waernu wHD
sLaBCaéE g els@n Gsransuia 2%.

From the following, prepare liquidator’s final

statement :
Rs.
Unsecured creditors 2,24,000
Preferential creditors 70,000
Debentures 75,000
Asses realized 2,68,000
Liquidation expenses 2,000

A call of Rs. 19,000 paid by shareholders.
Liquidator’s remuneration @ 2% on the assets realized
and 2% on the amount distributed to unsecured

creditors other preferential creditor.
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8. Spsargnid  eleurmseilambg  Cpraol  LkE
erdler ey sarsdl(Hs.

(-

2,000 9% peneniflenwo LimkiGsar eeublouremmid
eh. 100 eighd 2,00,000
50,000 Cmirepiols umi@ger eeubleurammi .
10 &igid GeaussliulLg) . 8 4,00,000
ufléE WPhag mUD eTdlimummiiLy 2,18,000
cufl ez 50%
Qurgls STULEE LIHLD rLiGHled

20%
Qurgiaumer () 635D 15%

From the following information, calculate the
value per equity share.
Rs.
2,000 9% preference shares of Rs. 100 each ~ 2,00,000
50,000 Equity shares of Rs. 10 each, Rs. 8

per share paid up 4,00,000
Expected profits per year before tax 2,18,000
Rate of tax 50%
Transfer to General Reserve 20% of the
profit
Normal value of earning 15%
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SECTION B — (3 x 20 = 60 marks)

Answer any THREE, Answer to each theory questions
not to exceed 4 pages.

9. ooasg IlLeumansErLer eumdluler @ muL
Hlavas @olly wrdfl augeibd §ms.

Give a specimen of Bank’s Balance Sheet with all
schedules.

10.  uewr 668 samsSlue LOHNDL GHE5MHE SaTSES O
&YE8 GHIUY euamrs.
Write a note on Inflation Account and Lease

Accounting.

11.  31-3-07 @pqweyerer wdleor vem Hmeuarsder
@ muyssear §Cp Car@ssiiul_(Hererar.

umm. eurey
. ) W)

Hleod (1-4-2006) 60,000

BLUL| periged Bl eurmidlug, 2,000
erh&lrd (1-4-2006) 2,40,000

BL UL Qamgdd eThH T curmdlug)

2006-07 2,000
@uleren 80,000

BLUL gerige Cwuleren eurmdlwig

2006-07 20,400
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EMS MG LIGI&HE 6T
sLaT LUgSlTmisar
upUe sLaibCerraer
Cauwinren &/

LDUQ SL_amerger
@s1 sLeamaflser
Qrrssnd

Blem 2 HLiGH Qeeway
WBlem e EICwire Geeay
Cuerameno Qawesar
UTL 60

Cswinmend

Weramy eNmuienen
SLLT aur_ens

sLem USSly aulig
QL ssme0 LRSTSWLD

Bler eumeuris &/@ @iy 1.4.2006

umm.
M

16,000
200
2,000
14,000
2,000
4,800
2,000
8,000

4,000
8,000

eure

W)

2,19,600

80,000
400

1,00,000

52,000

2,000.

11,400

4,65,400 4,65,400

Cupsaflu elurmed =gl uleo UHEUML &/ (G
Blar eumeaumis 5/@ s &/@ whmib Qurg iy Head

@lulamer swirflés.

7428/MAS5

The following are the Balance Sheet on
31t March, 2007 in the books of Magila Power
Company Ltd.

Dr. Cr.
Rs. Rs.
Land on April, 2006 60,000
Land expended during the year 2,000
Machinery on 15t April, 2006 2,40,000
Machinery expanded during the year
2006-07 2,000
Mains 80,000
Mains expanded during the year
2006-07 20,400
Equity shares 2,19,600
Debentures 80,000
Sundry creditors 400
Depreciation accounts 1,00,000
Sundry debtors 16,000
Other debtors 200
Cash 2,000
Cost of generation of electricity 14,000
Cost of distribution of electricity 2,000
Management expenses 4,800
Rent 2,000
Depreciation 8,000

9 7428/MAS5



Rs. Rs.
Sale of current 52,000
Rent of meters 2,000
Interest on debentures 4,000
Interim dividend 8,000
Balance of Net Revenue a/c on
1.4.2006 11,400

4,65,400 4,65,400

From the above prepare Revenue A/c, Net
Revenue A/c, Capital A/c and General Balance Sheet.

12. HS #peiend, GC dneuasdblmpg Hossils
‘Frmsb earm 1.1.94 oen 55056 T (S5

(s1) 2flenws Qsrans ep. 1/2 61 2 pusdHssns.

(=) Eonss uls 2flows Gsrans . 12,000
TS

(@) upprégenn Hmoul  CQumeug eu@EmHL 3
Q@rHal @ erermb ¢h. 2,500 cueny Spouls Qum gy
crenmid eplilé Qamerariiui L g).

() Cauma Blmssdlen Cumps 2Mlu prisEpss
Gopps uls 2 flaws Csrams Gonsslu(b.  rarmib
sgauembULEE Gonss uls o fowsbsrasules 50%
FQIENS aUPmSLILIMHD eremmid @Uiys CsmeareriulLg).
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Cuogub HS flpeuansdlne 25% Qprés wremud
Smwul up Wpywrs uppTEGmD (s5TMES®E WSHW re
W3 BHG AT (HE (G UPRIGLD.
(20) s 6 Yyarhislsrer 2 pusH

1994 2 amenw 2 Menws Qgrens . 7,000

1995 o @wenw 2 flenwsg Ograns 5.10,200

1996 o awenwo 2 flenws Ggrens . 16,100

1997 2 awenwo 2 MNenog Qgras m.13,600

1998 o a@menwo 2 Mevwsg Qsrens . 10,800 (73 mriser

Gouenav Hlmissid)

1999 2 ameno 2 Nenwng Qsrens 5. 9,700 (rsid sgeuamL i)
HS fipeuansdlen eriiger CuCrl( &/ @ swrfléseyi.

HS Ltd. obtained a lease from GC Ltd. for a coal

mine on 1.1.94 on the following terms and conditions :
(a) Royalty at Re. 1/2 on raised.
(b) Minimum rent Rs. 12,000 p.a.

(c) Recoupment of short working on each year
during 3 years following subject to a maximum of

Rs. 2,500 p.a.

(d) In the event of strike the minimum rent
would be taken prorata on the basis of actual working

days but in the event of lock out, the lessee would enjoy
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a concession in respect of minimum rent for 50% of the

period of lock-out.

Besides the above, HS Ltd. have been
granted a cash subsidy equal to 25% of the
unrecoupable short working by the central government

upto the 5 years of the lease.
(e) Working upto first 6 years is as follows :
1994 Actual Royalty Rs. 7,000
1995 Actual Royalty Rs. 10,200
1996 Actual Royalty Rs. 16,100
1997 Actual Royalty Rs. 13,600
1998 Actual Royalty Rs. 10,800 (strike 73 days)
1999 Actual Royalty Rs. 9,700 (lock-out for 4 months)

Show the ledger a/cs in the books of HS Ltd.

13, Yympdw psiyp Seurer sl glen Ep  deureum
gpeeul eranm o mi$l Gelwiul S grd  eremueuler
eflugd &G Qar@ésuul(erarg. dambs eSlwmumy
BLalgsmsuller Uligued LOMWD GHDUTLHE SETEMS

swmt Qglis.
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Sjeuflen epavgand em. 700, eriy ep. 700 jeumenw
Qersgisar Lsss sl ¢h. 1,000, e ep. 800 ey sLei
cramid eh. 100 e5Cs8 sLém eranayd eT(hdgs Camers.

§76@ (Udss QEUY . 1,500) . 900 eupg fED
Qupdlyd (Usss wHiy ep. 1,600 sigar alene ep. 1,800)
spCurengw ellpueer elleney . 1,100. &I (safls Carsg)
wdliy . 1,200 @igen ugdHyw edwrurgsdneg Cueaeuanyl
upm  Qumeusners FLTs  Cer®ssiuuliLg ey 800.
Sleumenw ujer umedld (uuen iy wHiy ep. 600)
ep. 1,000 sen sLesaers FLrs  Cesr(ssuul(hereng.
e Gevern wHp LG wHiy en. 4,030
Sjeur Fleumer peusnH@E, (Peet @Qrer(h Lomg 2eTluIT FOLIET
umadl em. 50.

From the following information, prepare
statement of affairs and deficiency a/c of Mr. Ram who
was declared insolvent under the provincial towns
insolvency account.

His capital was Rs. 700 and his drawings were
Rs. 700.

His assets consisted of :

Book debts Rs. 1,000, of which Rs. 800 was
considered good and the balance estimated to produce
Rs. 100 stock (Book value Rs. 1,500) estimated to
produce Rs. 900. Machinery (Book value Rs. 1,600,
Cost price Rs. 1,800) estimated to produce Rs. 1,100.
Freehold house (Private property) value at Rs. 1,200.
The deed of which as lodged with the bank as security
for an overdraft on business a/c Rs. 800. His life policy
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(surrender value Rs. 600) was given as a part security
for a private loan of Rs. 1,000. His unsecured creditors
amounted to Rs. 4,030 and he owed Rs. 50 to his clerk
being salary for two months just preceding the date of
his insolvency.

14. 31.122007 oL ev  (PGOUMLES  <ewTiqHEHTET
aamuliL(Ds giemmullern aumwnar sarsdlamen $wimil&Ese.w.
(.
Cammifleno Ceausdlwuig 4,80,000
Ganmilan Clequss Gouetmg.uig) 40,000
(1.1.06)
Cammflen Cequss Coueriy g
31.12.2007 70,000
Qupliul L peaToid 12,12,000
LOSTUEL(H (PEETOLD 1,20,000
sley 2,00,000
Qupuul L vysrISL® 76 10,000
Qegugsliu_ L wmsmilSl () 1@ 5,000
Bliteunss Qewa|sdr 3,17,000
& arulSL @ B @muy (1.1.06) 4,00,000
& amulSL( sa(se AP @iy 20,000
wmsTulS@H Cammilanw Qubpg 8,000
woisTUlG Cammiaw Warar wmsgel
GQeavefand 5,000
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& el hueneruied HLL LD 5,000
QUIT&E LG 3,000
Hmbul Qupiiul L & 5,000
uristgrwsSern Bg Qupiiud L ey 6,000
uhsTsmw eully Bgrer el 1,000
F_L Qsevalerid 3,000
W@ elpuemarnier WBsmer @eamrub 2,000
iU &g ulmuysafledmbg

QUTL6NG 2,000
Smpaeer Bgren Cauinmed 6,000

gnsanGel @QE@EL U a&riy Bl @l er
Cogyb ambse stiy HHaeE waawsded 1 ssaldsn
REIEGS.

Prepare Revenue a/c of a fire department for the
year ended 31.3.2007 on the basis of the following data :

Rs.
Claims paid 4,80,000
Claims outstanding on 1.1.2006 40,000
Claims outstanding on 31.12.2007 70,000
Premium received 12,12,000
Re-insurance premium 1,20,000
Commission 2,00,000
Re-insurance commission received 10,000
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Rs.

Commission on reinsurance accepted 5,000
Management expenses 3,17,000
Fire fund balance [on 1.1.2006] 4,00,000
Additional reserve for unexpired risk 20,000
Re-insurance claim received 8,000
Medical expenses on reinsurance 5,000
Loss on sale of car 5,000
Bad debts 3,000
Refund of taxes 5,000
Interest and dividends received 6,000
Income tax deducted on above 1,000
Legal expenses 3,000
Profit on sale of investments 2,000
Rent of staff quarters 2,000
Depreciation on furniture 6,000

Provide 1% premium as additional reserve for
unexpired risk in addition to the opening balance of
additional reserve.
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7T429/MA6 OCTOBER 2008

FINANCIAL MANAGEMENT

(For those who joined in July 2003 and after)
Time : Three hours Maximum : 100 marks

Answer any THREE questions from Section A and any
TWO questions from Section B.

All questions carry equal marks.
SECTION A — (3 x 20 = 60 marks)
1.  fAdflewe Cuoaramenwuler gemew wwHML Corés
eravanavan efleufl.

Explain the nature and scope of Financial

Management.
2. gCaaid usg samsdwed olfsmsmer aleufsg
Sjeneusalen (&S LSFIUSMNS FH(HEHTE 6Hl6TeEs.

Describe any ten accounting ratios and briefly

explain their significance.



3. dm @iy eumys
<) EOQ

2),) BOLAPDD 555 STEHS L6

\
\
]

/

) epelClLmmeT Sevenel Lommige)

(
(
(&) wweow arey dFweyd §iLLb
(
(2) Sl vulgue sl Huun.

Write short notes on :

(a) EOQ

(b) Current Cost Accounting

(¢c) Master Budget

(d) Material Mix Variance

(e) Budgetary Control.
4.  “Qumsnefu Coerareawn” - eueyum. g6
Crrésmismer allens@s.

Define “Receivable Management”. Explain its
objectives.
5.  &grer umstsmwd  uddl  Pleug wg?  epem
suanswiren &rmer LksTSTLS S amer efleul.

What is meant by Stability of dividends? Describe
the three forms of stable dividends.
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SECTION B — (2 x 20 = 40 marks)

6. auyCaeer NG iqen Qe ar(hsEsssmer

@ mULs6T Gemeu(HLomm 2 6Temen :

Qumrmlysar

s

Ul &6

sLaBGCHMT

QAegusn @il
O_GHOTIg-LLIGD

IFC-W9e\mpa

&L_eul

2006 2007 Qsrsgésd
. .
1,50,000 1,75,000 s isr
1,60,000 1,00,000 Qunf
90,000 1,00,000 s75dl @iy
sLanmaflsan

50,000 40,000 Gyrésnd

— 25,000

4,50,000 4,40,000

" Cuauib eleurmisearmeie :

2006 2007
O U
1,10,000 1,50,000
2,00,000 1,40,000
50,000 45,000
70,000 80,000
20,000 25,000
4,50,000 4,40,000

(=1) 2007-1b yewr(h&sman Hlar eomuw ep. 60,000.

(=) Seuaumarriged GQumdlulien <L &sb ap. 25,000

(Cerhy Gauwioremd ep. 10,000) o ararg). @p. 13,000-&s

efnstulLg. CQumdssrear Cslwrer ggisE 31.12.2006

e em. 50,000-se b 31.12.2007 ey em. 85,000-ys60

Qobsg. Qrrésy
swmflésey.

Cumse Hlow hsms

RGNS
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The Balance Sheet of Vadivelan Ltd. for the two
years were as follows :
Liabilities 2006 2007 Assets 2006 2007

Rs. Rs. Rs. Rs.
Capital 1,50,000 1,75,000 Buildings 1,10,000 1,50,000
Loan from Plant 2,00,000 1,40,000
bank 1,60,000 1,00,000 Stock 50,000 45,000
Creditors 90,000 1,00,000 Debtors 70,000 80,000
Bills Cash 20,000 25,000

payable 50,000 40,000

Loan from
IFC — 25,000

4,50,000 4,40,000 4,50,000 4,40,000

Additiohal information :

(a) Net profit for the year 2007 amounted to
Rs. 60,000.

(b) During the year a plant costing Rs. 25,000
(accumulated depreciation Rs. 10,000) was sold for
Rs. 13,000. The provision for depreciation against plant
as on 31.12.2006 Rs. 50,000 and on 31.12.2007 was
Rs. 85,000.

You are required to prepare Cash Flow
Statement.
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7. A QWGLl, B WGl ererp @rawr(h swbuaflser
@Cr wrélflwrer Qur@mener 2 PusH Celg @Gy shamsudld
eilpdlempar. emeuseafler 2006-b gy ewrgpaTer SOl

Qaru plL savs@ser G sruul_(drare :

A OB B I8@LL
. . . .
sSlpLievar 3,00,000 3,00,000
e -
oTpémgw Qswa  2,40,000 2,00,000

Hlepewiner Geeey 30,000 2,70,000 70,000 2,70,000

wHUSEH Qewwiu L

@l 30,000 30,000

el Cal(hé Qardarariu(beg :

(=) @oru efliy eldlsbd, eru, plr o Lerafl
LHOID UTESTUY UGS saumsdlL.

() @) Cdurepe@se adssGooas  GnrsED
Qumps

(1) QureErsE Gopps Csamel G (HEED

smasSledr rhg  eNwrurgd s @eorusams FL(HID
TSNS Fa .

(@) oeuleureardlaid e 10,000  emumsgar,
Qremgad  ereueueney Fpeisd  elbumenie 2 wirey
CTTUENSE SERTHEIL_.
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The companies A Ltd. and B Ltd. manufacture
and sell the same product in the same market. Their
budgeted profit and loss accounts for the year 2006 are
as follows :

A Ltd. B Ltd.
Rs. Rs. Rs. Rs.
Sales 3,00,000 3,00,000
Less :
Variable cost  2,40,000 2,00,000
Fixed cost 30,000 2,70,000 70,000 2,70,000
Profit 30,000 30,000

You are required to :

(a) Calculate the P/V Ratio break even point and
margin of safety of each business.

(b) State which business is likely to earn more
profit in case of

(1) Heavy demand for the product
(11) Low demand for the product.

(c) Calculate the sale volume at which each of
the two companies will make a profit of Rs. 10,000.

8. ‘g womw W ey @ Hlmsalame symaflurs
Smbuslan_s@h Dstasmus sarsd(Hs :

Sl ‘g Sl 9@
GERIC) en. 2,00,000 @ 3,00,000
THTUTTEEGD WL STLD
(By wdiy Gevena) 4 aumL 5 aupLid

6 7429/MA6

agdturis@gn By eumwrend (eully GCguiorei
wopmw eufléEeg WnE).
e SHrd ‘e’ Hib W@
- -
20,000 30,000
15,000 30,000
15,000 20,000
10,000 10,000
— 10,000
60,000 1,00,000

O W DN =

12% @ierey Hpous oL sEb AsTas apre, b
L Fns FH&MD?

Calculate the average rate of return for

Projects ‘A’ and ‘B’ from the following :
Project ‘A’  Project ‘B’
Investments Rs. 2,00,000 Rs. 3,00,000

Expected life (No salvage value) 4 years 5 years

Projected Net Income (after interest, depreciation
and taxes).

Years Project A Project B
Rs. Rs.
1 20,000 30,000
2 15,000 30,000
7 7429/MA6



Years Project A Project B
Rs. Rs.
3 15,000 20,000
4 10,000 10,000
— 10,000
60,000  1,00,000

If the required rate of return is 12% which project
should be undertaken?

9. @m Hmwbd soGurg m. 12 Qelsb eufl woHmD
uligHE WPhsw eumeumi Flly eUHEDS. DiSaanw
#HCursW SLanger YaTeu oM :

11% pawr_snevs sLenser 5. 40 Qe &b

BEL_(LPEDD LPSETLD
curidludledl(ppg 16% &Le eh. 33 @evl_&Lb
12% auliguiled Qung enauliyy ep. 15 Qe gib.
Blywsder elpuamen eueTThg UMHEUSTED, BASDHE
Caeneuwiman Hldlenw Hlmiobd eumdluiledmng sbhsd sLemms
epuml 25 @el g GQup Sl Hererg. eufl LOHMID
uligsEg whmsw eumeums 20% Ssfssord  eran
arummssLuREng. smbse sLem eummdwu Gerernt, cul iy

2 aTaTL&@Eb l1fgs8d ghudb LrHnSSemens &earr_Hs.
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A company is currently earning an EBIT of

Rs. 12 lakhs. Its present borrowings are :
11% term loans Rs. 40 lakhs
Working capital :
Borrowing from bank at 16% Rs. 33 lakhs
Public deposit at 12% Rs. 15 lakhs.

The sales of the company is growing and to
support this, the company proposes to obtain an
additional bank borrowing of Rs. 25 lakhs. The increase
in EBIT is expected to be 20%. Calculate the change in
interest coverage ratio after the additional borrowing

and comment.

10. (@) o0 Howssse wan aosurar  HHS
dlimser  oarerar.  g@eauGeurm  FlLsgisEn B
QYDDOTETLSSE SETEEL_ (D& H(HSFHE Famis.

X Y v/
SO Ap@FaLD 2,000 1,000 3,000
sLan 2,000 3,000 1,000

Qewe @emuw (EBIT) 400 400 400
Smaisgs S misaflgybd sLan g ey 10%.
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@.
g2 Menll Liki@Gser 1,00,000
10% ergiflentols LimiE epFeid 1,00,000
8% sLen LGSl rmisaer 1,25,000
spCurengw EBIT . 50,000 <@, Hlmwbd

50% euflefluy cuanamwisdled 2 crarg) eren aoreisg), H
SODOTSTLSNSE SerTéS (H.

(a)

A company has a choice of the following

three financial plans. You are required to calculate the
financial leverage in each case and interpret it.

X Y Z
, Rs. Rs. Rs.
Equity capital 2,000 1,000 3,000
Debt. 2,000 3,000 1,000
Operating profit (EBIT) 400 400 400
Interest @ 10% on debt in all cases.
(b) Rs.
Equity share capital 1,00,000
10% Preference share capital 1,00,000
8% Debentures 1,25,000

The present EBIT is Rs. 50,000. Calculate

the financial leverage assuming that the company is in
50% tax bracket.
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7430/ MA7 OCTOBER 2008

ADVANCED COST ACCOUNTING

(For those who joined in July 2003 and after)

Time : Three hours

Answer any THREE questions from Section A and
any TWO questions from Section B.

All questions carry equal marks.
SECTION A — (3 x 20 = 60 marks)

1. (&) osseas  samssuddien

cllaré 5s.

[BEITEH LO& 6 6T

(=) epaliCurmener ewws Csmeripsd CFlaigser
HETENLOGET WITEHEU ?
(a) Explain the advantages of Cost Accounting:

(b)  What are the merits of centralised purchase
of materials?

2. (&) oass cadwg L sHavans swnflaegn Qumrps
souaflss Couanripw Q&TaTessaT Wmeney? I
(<)) euanTelleEsamTD smms : Sy d
(1) Heeowrer GQsway. /A »
i) GagulL Qewey. ¥ !

(1) uEd wrmderm Ceweay.

Maximum : 100 marks '

SN (a)

(a) Outline the general principles to borne in
mind in designing a wage incentive scheme.

(b) Define:
(1) Fixed cost
(i1) Variable cost and

(i11) Semi variable cost.

3. (o) Oeweeimns LG5S GTETDTL GTET6? &6
BHETEDLOGET WITEHEU?

(=) SILEs Quapen @arhlae S5l
ardliQamearer Gouarrigw @LTUTHSET WTEEI? e ET
GTEUGUMM| HEMETUIEUTD?

(a) What is operating costing? List out its
advantages.

(b) What are the difficulties faced in installing a
costing system? How are they overcome?

4. (&) OQeweenoiiy Cgeveysamer

aumsluBSSOTD? @QMg ereueumm 2 HUSSH HODSEHEES
wropliu(GEng?

GTeUGUMM)

(=) ffleumdsliul L. L SESSTET GTETDTE) GTEu6?
9igen sl eeram &ms.
How is the overheads classified? And how do
% »:\ you transfer to production departments.

N\

v |

What is comprehensive cost sheet? Give a

SISty :‘IIInOdel of that.

: ;;;,ﬁ ,

T —
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5. () Lsseflwa SETEHEID &LD GuemerenLo
semsHHEL 2-erer Geumium(hEeT Wreneu?

(2)) SiLssellavas sadE @TUSSHDEL BHlemT
sasE omusSnGn 26rer CoumumiigDETET &TIERThISET
wreneu?

(a) What are the differences between cost

accounting and management accounting?

(b) What are the reasons for differences in profit

as per cost accounts and financial accounts?

SECTION B — (2 x 20 = 40 marks)

6. SgulnsarL Qe epebd (o) ergrrent symafl ellane
(<) LHLCUDPLILL L grref alane penmaafley LT rigeT
CuCrl(s samsdlanans swnm Cels :

1.2.07 @muy 100 sieEser p. 5 aisb

5.2.07 Qamerpse 500 e @sar ep. 6 6isbd

7.2.07  auypms® 300 S@Gser

15.2.07  auppid® 200 e @s6r

20.2.07 Qsmrerpsa 500 S @Gs6r oh. 5 6igbd

25.2.07  aupms@® 300 Sje@ser

28.2.07 aupméQ® 250 Sje@Gser

3 7430/MA7

Prepare Stores ledger a/c under (a) Simple
average price (b) Weighted average price method.

1.2.07 Balance 100 units @ Rs. 5 each
5.2.07  Purchases 500 units @ Rs. 6 each
7.2.07  Issue 300 units

15.2.07 Issue 200 units

20.2.07 Purchases 500 units @ Rs. 5 each
25.2.07 Issue 300 units

28.2.07 Issue 250 units

7. Qemeumpd elurhseialBing (1) al @ Giszse e
(<) wmpplumgsd wap (@) Wearsav pann pslueipblen
QgL uile dgmerer wrom elfssmas sarsd (Hs.

Qsmfemert eraanfléens wre @ rbugdle 900 wHmIWD
wrs @muier 1100.

DTS 10 Qamemerraer Bridlanriser.
40 Qsmfleorerigser SasiulLeant. 150 Qsmflereriser
ydlsre Garssliul_Leant. Geursefler 25 Qamlemeriser Lenfl
B&E&LD Cewwdu’ e QLmisener Blrlyeusnsns
DIOTSSILLLTTEET. HmeUTsET e allfleursss S Lsdlhers
Camgaliu’ L misar.

From the following data, calculate labour turnover

rate by using (a) Separation method (b) Replacement
method (¢) Flux method.

No. of workers at the beginning of the month
900 and at the end 1100.

4 7430/MA7
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During the month, 10 workers left, 40 persons
were discharged and 150 workers were recruited. Of
these, 25 workers are recruited in the vacancies of those
leaving, while the rest were engaged for an expansion
scheme.

8. dm G eu Qurmd swrfllugparer elurhsamen
gliger 2007 wrssHnE ShgieTerr.

s&gr Qumemer psTay — 5. 15,000

Crrig emel — ap. 9,000

@Quipsly wenflser 2 amipss55 — 900

Quipsly wanfl eSdlsd — em. 5

Bliteurs Qeaey — 20% 2 pusd oi_sasdld

eflpuener Clewe] — i@ @amsa S50 eust

o Husd Se@ser — 17,100

elbm siev@ser — 16,000 gemmiss . 4

DL EES STET @D HWmflds.

Mr. G furnishes the data for producing a product
for the month of April 2007.

Raw material consumed — Rs. 15,000

Direct labour charges — Rs. 9,000

Machine hours worked — 900

5 7430/MA7

Machine hour rate — Rs. 5

Administrative overheads — 20% on work cost

Selling overheads — Rs. 0.50 paise per unit

Units produced — 17,100

Units sold — 16,000 @ Rs. 4 per unit

Prepare a cost sheet.
8. Getreumid Qeldlsafiadimbg @ sfls_ (b Ll iguimas
sWTiésey :

(.

SiLsseilene ghsaflaniy @ e 1,62,400
Qsmflperene Qe sdr @ammeurs WL sl L g 3,120

Blireunal Qungé deaa|ser gn(soms

BrelulLg 1,700
Cauiomerid :

(=) <lLsseilonans samss 12,500
(<) Bfblees sarée 11,200
s Hsatien grer aulig 8,000
aurar aufl RgI&E 40,300
aumidl ety 750

Bl flewesd semsdleriy :

(=) ersl Ly BLLD 6,750
(<) uyparwtul G CGureugre gHu L BLi b 5,700
6 7430/MA7



Prepare a reconciliation statement from the @uuBs e&flenew ep. 15,00,000 31122007 eueny

iollowing particulars : e5. 6,00,000 GQprsswrs GQupliulig. Q& seraflsy
Rs. seflssiul L elemewuder 80% <y@ww. Gasmfal g8 o arer
Profit as per cost accounts 1,62,400 Ondi Qurmlseflear wdiy . 16,000 apdrsden Sg
Works overhead under recovered 3,120 . 16,000 Gsuwiwremd ergpsuul. GeuadmHb. @UUBS
Administrative overhead over recovered 1,700 sanéams swnflés mlgw Geru plLsms sreans.
Depreciation : Mr. A has undertaken several contract works. He
(a) Cost Alc 12,500 maintains separate record for each contract. From the
(b) Financial A/c 11,200 records, for the year ending 31.12.2007 prepare
Intarest on investments 8,000 Contract A/c for contract no. 45 and find the amount

transferred to Profit and Loss A/c.

Provision for income tax 40,300 )
Bank interest 750 Rs.
As per Financial a/c : Direct purchase of material 1,80,000
(a) Loss of stock 6,750 Material issued from stores 50,000
{(b) Obsclescence loss 5,700 Wages 244,000
10, dm. A ereueur wGoum QUUBSHIGMET 6 HMIG Direct expenses 24,000
WS i, geukiengy | GUUPESPDED  sSlEnpeeLL Machinery purchased 1,60,000
CuCrine geaflgsais savms@se ameusdlmpsrt. 31.12.2007 ' :
e 45-ssnen  @uupssSen WBgrar Geweysar  ECw Establishment charges 54,000
Asrhissuul.pererg : The contract price was Rs. 15,00,000 cash received
D- upto 31.12.2007 was Rs. 6,00,000 which is 80%
Crma.uins Qanaipge Qadis Qummlser 1,80,000 of the work certified. Materials at site Rs. 16,000,
Sl miglellmbg euprdw Gumm s 50,000 - Depreciation for machine Rs. 16,000.
Faadl 2,44,000
Crrig& Hgaeyser 24,000
apSlb Qardrpsea 1,60,000
Fliraunss Cewayser 54,000
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7T431/MAS OCTOBER 2008

INVESTMENT MANAGEMENT

(For those who joined in July 2003 and after)
Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

All questions carry equal marks.

1. @ndu umg ugdly shansuler Semwimu eleuflss.
Describe the structure of security market in India.
2. umEusSr U@Ly GTETD T GTEmENT?

(PSEL_LTETTaEh&E Uki@GUSHT uGLumieler Wpéslwugseuid
GTGUTENT?

What is security analysis? Why security analysis
is essential for investors?
3. @Quiuur®”’ - QesseTd  eUrs.  (PEDETT
@Lrium_ig e eueanssamer edleurdlss.

Define “risk”. Discuss the classifications of

systematic risk.



4.  umE ugdly wWHUSEH eawT® eramen?  Fwe flen
umidlen Hlybsy eueriés] wrdflenw eleundss.

What is valuation of security? Discuss the
constant growth model of equity share.

5. Spevwrer umEsims sHsTelw Qurg  eflaTés
Camumliger uwGeun Hlavwsmer allfleurs ar(hgianTas.

Describe the efficient market hypothesis with
different forms.

6. sl uligwd WBgrar eu@BeLTL” — B)a&SED
alangs. (WPSOL( ULliguidd SHTaT euHELTEMW 2 F&FiaTa]
eTeuGUMTD 2 W eln?

Define “port-folio return”. How will you optimise
port-folio return?

7. emiy qper wrdfluded Gemeurar ellbHUEeT ETETUMS
2 FF6m6ey (PSOL(H UL Iq weded ereueumm Sienoiir?

How will you construct optimum portfolio with
short sales using sharpe model?

8.  “epager Qergg clenev Camun(,
(PSOLLTETTSHER&E Uk@ ussy @ rium@—emeum
2 peneu M 2 sa|flpg’. elers@s.

“The Capital Asset Pricing theory helps the

investors to understand risk-return relationship of the
securities”. Explain.

2 7431/MA8

9. wsdl® ulgwdld edme Caupmew eurarfu

Cam_um_yer Aamaranssamear clleurdlés.

Discuss the principles of “Arbitrage portfolio”.
10. @sadl(®  ulgweled  wmpsdamd  gHU@D
Slgssamer <y ls.

Examine the problems of portfolio revision.
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